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1. Which of the following statement is/are correct about Portuguese ?

I. Albuquerque captured Goa early in 1510.  

II. By the inspiration of King Emmanuel of Portugal, Vasco da Gama tries to discover 
an ocean route to India. 

III. Under the Portuguese, Cochin rapidly grew into a large and flourishing town, 
and during their palmy days, it was, after Goa, the finest and the largest city on 
the malabar Coast. 

A) I, II and Ill   B) Only I and II 

C) Only II and Ill   d) Only I and Ill

2. Which of the following statement is correct about marthandavarma ?

I. marthandavarma defeat dutch in the Battle of Colachal in 1741.  

II. Travancore and Cochin make friendly relation by the treaty of mavelikara in 1757.

III. The title Mandapathu Vattukal is given to Army Headquarters.

A) Only l and ll   B) l, Il and Ill 

C) Only I and Ill   d) Only Il and Ill

3.  Which of the following facts are correct about Vaikkam Sathyagraham ?

I. E.V. Ramaswami Naykkar arrested in connection with Vaikkam Sathyagraha.  

II. The Vaikkam Sathyagraha continued at the time of flood, 1924. 

III. The legislative Assembly voted 1925 Feb.-7, supported 22 persons and rejected 
21 people. 

A) Only I and Ill  B) Only I and ll  

C) Only II and III  d) I, II and Ill 

4. Facts relating to Civil disobedience movement.

I. Gandhi declared non-violent struggle for Purna Swaraj.  

II. Gandhi’s dandi march (12 march – 06 April) from Sabarmathi to Sea through 
the heartland of Gujarat. 

III. “You planned a fine strategy round the issue of salt” Nehru would admit to 
Gandhiji in February 1931.

A) Only I and lll   B) Only ll and Ill 

C) Only I and II   d) l, ll and III
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1. SkL¡\ÿOY}y]Rj¨Or]\ÿV fLRuÕrpOÐ NkñLvjWt]¤ JfLeV/JRfLR¨pLeV wq] ?

I. 1510-R£ fOa¨¾]¤ A¤mO¨¡¨V SYLv k]a]R\ÿaO¾O. 

II. SkL¡\ÿOYs]Rs qL^LvLp CÚLjOvs]R£ NkS\Lhj¾L¤ vLyVSWLc YLo CÍ|p]
Ss¨Oç KqO yoONh kLf WRº¾L¢ èo]¨OÐO. 

III. SkL¡\ÿOY}yOWLqORa W}u]¤, RWL\ÿ] Af]SvYU v]wLsvOU An]vQÈ] 
NkLk]¨OÐfOoLp KqO kŸeoLp] vt¡ÐO, AvqORa jsæ WLs°t]¤ AfV SYLvàV 
SwxoOç osmL¡ f}qR¾ JãvOU o]W\ÿfOU vsOfOoLp jYqU Bp]qOÐO. 

A) I, II and Ill   B) Only I and II 

C) Only II and Ill   d) Only I and Ill

2. oL¡¾L¼v¡ÚRp¨Or]\ÿV fLRu krpOÐvp]¤ JfLeV wq] ?

I. 1741- --Rs WOt\ÿ¤ pOÈ¾]¤ oL¡¾L¼v¡Ú c\ÿOWLRq kqL^pRÕaO¾]. 

II. 1757- --Rs oLSvs]¨q DaÒa] NkWLqU f]qOv]fLUWPrOU RWL\ÿ]pOU yTzQhmÌU 
òLk]\ÿO.

III. --o¼k¾OvLfO¨¤ IÐLeV  SyjL BòLj¾]jV j¤W]p]q]¨OÐ SkqV.

A) Only l and ll   B) l, Il and Ill 

C) Only I and Ill   d) Only Il and Ill

3.  RRv¨U yf|LNYzR¾¨Or]\ÿV  fLRuÕrpOÐ vñOfWt]¤ JRfLR¨pLeV wq] ?

I. RRv¨U yf|LNYzvOoLp] mÌRÕŸV C. v]. qLoy~Lo] jLpV¨¡ Arð]sLp].  

II. 1924- --Rs RvçRÕL¨ yop¾OU RRv¨U yf|LNYzU fOa¡ÐO. 

III. j]poyn 1925 RlNmOvq] 7 jV SvLŸO R\pÅO, 22 SkRq k]ÍOe\ÿO, 21 SkRq  
j]qy]\ÿO. 

A) Only I and Ill  B) Only I and ll  

C) Only II and III  d) I, II and Ill 

4. j]posUZj NkòLjvOoLp] mÌRÕŸ vñOfW¥

I. kP¡¹y~qL^]jOSvº] YLÌ] Az]UyLÄW yoqU NkX|Lk]\ÿO.  

II. YLÌ]pORa h¼]oL¡\ÿV (oL¡\ÿV 12 – JNk]¤ 6) ym¡of]p]¤ j]ÐV YO^rL¾]R£  
zQhpnPo]p]sPRa Was]Ss¨V.  

III. ""DÕ]R£ NkwÔR¾ \Oã]Õã] j]°¥ KqO jsæ fNÍU ByPNfeU R\pÅO''. 1931 
RlNmOvq]p]¤ YLÌ]^]SpLaV RjzVrO yÚf]\ÿO. 

A) Only I and lll   B) Only ll and Ill 

C) Only I and II  d) l, ll and III
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5. Consider facts relating to Social Institutions and Reforms.

I. december 4, 1829 declaring the practice of Sati or burning or burying alive the 

widows of Hindu illegal and punishable by criminal courts.  

II. The raising of the age of marriage among the educated classes affective largely 

due to education, economic pressures and the break-up of the joint family 

system. 

III. The British Government followed the policy of non-intervention in regard to caste 

and family and changes that have marked these institutions are attributed for the 

most part not to any Governmental action but factors of a sociological nature.

A) I, II and Ill   B) Only II and Ill 

C) Only I and Ill   d) Only l and ll

6.  Consider the following statement relating to mughal art and architecture. 

I. Akbar constructed Fatehpur Sikri the dream model of Qublaikhans palace in 

Xanadu.  

II. Jahangir started Indo-Islamic baroque style. 

III. The moti musjid at Agra was constructed by Aurangzeb.

A) I, II and Ill   B) Only I and ll 

C) Only I and Ill   d) Only ll and III

7. Facts relating to cause of French Revolutions.

I. In France there were certain in direct taxes which were collected not by state 

officials, but by private individuals or companies.  

II. The clergy the Rome Catholic Church formed the first order in the State. It was 

rich and powerful. It owned probably a fifth of the land of France. 

III. The revolution was not caused by the Philosophers but by the condition and 

evils of the National life and by the mistakes of government.

A) Only l and Ill   B) Only lI and Ill 

C) I, II and Ill  d) Only l and ll
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5. yLoPz]W òLkj°tOoLpOU kq]ëLq°tOoLpOU mÌRÕŸ vñOfW¥ kq]Ye]¨OW.

I. 1829 c]yUm¡ 4-jV z]ÎO¨tORa v]ivWRt ^}vSjLRa W¾]¨OÐ ARsæË]¤ 

^}vSjLRa WOu]\ÿO oPaOÐ yf] B\LqU NW]o]j¤ SWLaf]W¥ j]pov]qOÈvOU  

w]ƒL¡zvOoLReÐV NkX|Lk]\ÿO.  

II. v]h|Ln|LyU, yLÒ¾]W yÚ¡ÇU, WPŸOWOaOUmv|vòpORa fW¡\ÿ IÐ]v oPs 

oLeV v]h|LyÒÐqLp v]nLY°¥¨]ap]¤ v]vLzNkLpU v¡i]¨OÐfV. 

III. Nm]Ÿ}xV Yv¦Ro£V ^Lf]pORapOU WOaOUm¾]R£pOU WLq|¾]¤ CaRkaL¾ 

jpoLeV k]ÍOa¡ÐfV, CT òLkj°Rt AapLtRÕaO¾]p oLã°¥ o]¨vLrOU 

y¡¨L¡ jaka]Wtsæ, or]\ÿV yLoPz]W y~nLvoOç ZaW°tLeV.

A) I, II and Ill   B) Only II and Ill 

C) Only I and Ill   d) Only l and ll

6.  oOY¥WsRppOU vLñOv]h|RppOU yUmÌ]\ÿ fLRuÕrpOÐ NkñLvj kq]Ye]¨OW. 

I. yjLcOv]Rs XORRmæXL¢yV RWLŸLq¾]R£ y~kÔ oLfQWpLp lS¾kP¡y]NW] 

AWVm¡ j]¡Ú]\ÿO.  

II. ^zLUY}¡ BqUn]\ÿfV C¢ScL&CyæLo]WV mSrL¨V RRws]p]sLeV. 

III. BNYp]Rs SoL¾] oyV^]hV KTrUYSymV j]¡Ú]\ÿfLeV.

A) I, II and Ill   B) Only I and ll 

C) Only I and Ill   d) Only ll and III

7. NlµV v]kæv¾]R£ WLqe°tOoLp] mÌRÕŸ vñOfW¥.

I. NlL¢y]¤ Sjq]ŸOç j]WOf]W¥ yUòLj DSh|LYòqsæ, y~WLq|v|©]WStL  

WÒj]WStL BeV k]q]R\ÿaO¾]qOÐfV.  

II. SrLU WS¾Ls]¨Lynp]Rs RRvh]W¡ yUòLjR¾ Bh|NWoU qPk}Wq]\ÿO. AfO 

yÒÐvOU w©vOoLp]qOÐO. NlL¢y]R£ nPNkShw¾]R£ Aµ]RsLÐO nLYvOU 

Af]R£ Daoòfp]sLp]qOÐO. 

III. v]kævU DºLpfV f¾~\]ÍW¡ oPsosæ, or]\ÿV Shw}p ^}v]f¾]R£ AvòpOU  

f]ÓWtOU nqeWPa¾]R£ RfãOWtOU WLqeoLeV.

A) Only l and Ill   B) Only lI and Ill 

C) I, II and Ill   d) Only l and ll
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8. Facts relating to UNO

I. The UN established close resemblance to the league of nations its initial 

members 50 represented at San Francisco.  

II. The charter pledged the members to maintain International peace and security 

and to cooperative in establishing political, economic and social condition 

favourable to those objectives it forbade intervention in the internal affairs of 

any nation. 

III. At the Teheran Conference in december Roosevelt, Churchill and Stalin called 

for “a world family of democratic nation”.

A) Only I and II   B) Only II and Ill 

C) Only l and Ill    d) I, II and Ill

9. Consider the following facts relating to plastic pollution.

I. more than 400 million tonnes of plastics is produced every year worldwide half of 

which is designated to be used only once of that, less than 10 percent is recycled. 

II. Micro plastics-tiny plastic particles up to 5 mm in diameter – find their way into 

drinking water. 

III. Some 11 M tonnes of plastics waste flow annually into oceans this may triple 

by 2040.

A) Only I and II   B) Only I and Ill 

C) Only II and Ill   d)  I, II and Ill

10. Consider the facts relating to Central Information Commission.

I. Sri Heeralal Samariya, Chief Information Commissioner.  

II. The Central Information Commission has been constituted with effect from  

12th October 2005. 

III. The jurisdiction of the commission extends over all Central and State Public 

Authorities.

A) Only l and Ill   B) Only I and II 

C) I, II and Ill   d) Only II and Ill
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8. UNO- -pOoLp] mÌRÕŸ vñOfW¥.

I. yL¢ NlL¢y]yVSWLp]¤ Nkf]j]i}Wq]\ÿ 50 NkLqUn AUY°tORa WLq|¾]¤  

pO. I¢. s}YV KLlV Sjx¢yOoLp] yLo|U NkWaoL¨].   

II. AÍLqLNì yoLiLjvOU yOqƒpOU j]sj]¡¾LjOU JRfË]sOU qL^|¾]R£ 

Bn|ÍqWLq|°t]¤ CaRkaOÐfV v]s¨]pOU sƒ|°¥ V̈ AjOWPsoLp qLNì}p  

yLÒ¾]W yLoPz]W yLz\q|U òLk]¨OÐf]¤ yzWq]¨LjOU \L¡Ÿ¡ 

AUY°¥ Nkf]³RpaO¾O. 

III. c]yUmr]Rs RazVrL¢ ySÚtj¾]¤ rPyVRv¤ãV, \¡\ÿ]sOU ðLs]jOU  

""^jLi]kf| qLNì¾]R£ KqO SsLW WOaOUm¾]jV '' Svº] Bz~LjU R\pVfO.

A) Only I and II   B) Only II and Ill 

C) Only l and Ill    d) I, II and Ill

9. kæLð]WV os]j}WqevOoLp] mÌRÕŸ fLRuÕrpOÐ vñOfW¥ kq]Ye]¨OW.

I. SsLWRoÒLaOU KLSqL v¡xvOU 400 hwsƒU a¹]si]WU kæLð]¨OW¥ D¤ÕLh]Õ] 

¨RÕaOÐO, Af]¤ kWOf]pOU Kq]¨¤ oLNfSo DkSpLY]¨LvP, 10 wfoLj¾]¤ 

fLRu oLNfSo r}RRy¨]¥ R\áRÕaOÐOçP.  

II. RRoSNWLkæLð]WV  5 o]sæ]o}ãSrLtU v|LyoOç R\r]p kæLð]WV We°¥ – WOa]Rvç 

¾]Ss¨V vu] WRº¾OW.  

III. Nkf]v¡xU JWShwU 11 hwsƒU a¦ kæLð]WV oLs]j|°¥ yoONh°t]Ss¨V 

KuOWOÐO, CfV 2040-SfLRa oPÐ]qŸ]pLWOU. 

A) Only I and II   B) Only I and Ill 

C) Only II and Ill   d)  I, II and Ill

10. SWNÎ v]vqLvWLw WÚ}xjOoLp] mÌRÕŸ vñOfW¥ kq]Ye]¨OW.

I. è} z}qLsL¤ yoq]p, oOX|v]vqLvWLw WÚ}xe¡.  

II. 2005 KWVSaLm¡ 12 oOf¤ SWNÎ v]vqLvWLw WÚ}x¢ j]sv]¤ vÐO.  

III. WÚ}xR£ Ai]WLqkq]i] IsæL SWNÎ&yUòLj RkLfO Ai]WLq]Wt]Ss¨OU 

v|Lk]\ÿ]q]¨OÐO.

A) Only l and Ill   B) Only I and II 

C) I, II and Ill   d) Only II and Ill
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11. match list – I with list – II and select the correct answer using the codes given  
below :
  List – I  List – II 
 (Layers of Atmosphere)  (Characteristics)

a. Stratosphere 1. Temperature decreases with increasing height

b. Exosphere 2. Aurora Borealis and Aurora Australis are produced

c. Troposphere 3. Contains much of the total atmospheric ozone

d. Ionosphere  4. Atoms of oxygen, hydrogen and helium

codes :

a b c d

A) 4 3 2 1    

B) 3 4 1 2

C) 3 4 2 1 

d) 4 3 1 2

12. The National Waterway 3 (NW3) of India stretch between

A) Sadia – dhubri   B) Kakinada – Puducherry 

C) Kottapuram – Kollam   d) Allahabad – Haldia

13. match list – I with list – II and select the correct answer using the codes given 
below :
  List – I  List – II 
 (satellites)  (country)

a. GOES 1. France

b. INSAT 2. USA

c. SPOT 3. Russia

d. meteor – 3  4. India

codes :

a b c d

A) 2 4 3 1    

B) 3 2 1 4

C) 3 4 1 2 

d) 2 4 1 3 
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11. kŸ]W – I&Rj kŸ]W – II&oLp] S\qOUka] S\¡¨OW. \OvRa j¤W]p]q]¨OÐ SWLcOW¥ 
DkSpLY]\ÿV wq]pLp D¾qU f]qR´aO¨OW.
  kŸ]W – I  kŸ]W – II 
 (AÍq}ƒ¾]R£ kLt]W¥)  (yv]SwxfW¥)

a. Ny›LSãLó]p¡ 1. DpqU WPaOÐf]jjOyq]\ÿV fLkj]s WOrpOÐO

b. IWVSyLó]p¡ 2. ASrLr RmLr]pLs]yV, ASrLr KLNy›Ls]yV IÐ]v  
  j]¡Ú]¨RÕaOÐO

c. SNaLSkLó]p¡ 3. RoL¾U AÍq}ƒ KLSyLe]R£ nPq]nLYvOU  
 Aa°]p]q]¨OÐO

d. ApSeLó]p¡  4. KLWõ]^¢, RRzNc^¢, z}s]pU IÐ]vpORa Bã°¥

SWLcOW¥ :

a b c d

A) 4 3 2 1    

B) 3 4 1 2

C) 3 4 2 1 

d) 4 3 1 2

12. CÍ|pORa Shw}p ^skLf 3 (NW3) Cvà]ap]¤ v|Lk]\ÿO W]a¨OÐO.

A) yLh]p – iONm]  B) WL¨]ja – kOfOS\ÿq] 

C) SWLŸÕOrU – RWLsæU   d) AszmLhV – zL¤h]p

13. kŸ]W – I&Rj kŸ]W – II&oLp] S\qOUka] S\¡¨OW. \OvRa j¤W]p]q]¨OÐ 
SWLcOW¥ DkSpLY]\ÿV wq]pLp D¾qU f]qR´aO¨OW.
  kŸ]W – I  kŸ]W – II 
  (DkNYz°¥)  (qL^|U)

a. GOES 1. NlL¢yV

b. INSAT 2. pO.IyV.I.

c. SPOT 3. rx|

d. D¤¨ – 3  4. CÍ|

SWLcOW¥ :

a b c d

A) 2 4 3 1    

B) 3 2 1 4

C) 3 4 1 2 

d) 2 4 1 3 
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14. Consider the following statements and select the correct answer using the codes 

given below :

1. The Bhabar tract is a pebble studded zone.

2. The Bhangar represent the newer alluvium.  

3. The Khaddar represent the older alluvium.

4. The Terai is a zone of excessive dampness.

codes : 

A) 1, 2 and 3 are correct   B) 2 and 4 are correct 

C) 1 and 4 are correct   d) 1, 2, 3 and 4 are correct 

15. Which among the following National Park is home to the largest population of  

lion tailed macaques ?

A) Anamudi Shola   B) mathikettan Shola

C) Silent Valley   d) Eravikulam

16. Which one of the following was the main theme of India’s twelfth Five year Plan 

(2012 – 17) ?

A) Garibi Hatao   

B) Faster, more Inclusive and Sustainable Growth

C) Growth with Social Justice and Equality   

d) Poverty Alleviation and Industrial development

17. Which of the following statement is/are correct about Reserve Bank of India ?

i. RBI is a member of ImF.

ii. The Reserve Bank of India was established on April 1, 1935.

iii. Usha Thorat was the first women RBI Governor.

A) Only i and ii   B) Only ii and iii 

C) Only i and iii   d) All of the above (i, ii and iii)

18. Which of the following taxes will be levied on imports under GST ? 

A) CGST   B) IGST 

C) SGST   d) All of the Above



 71/24 – M

a -11- 

14. fLRuÕrpOÐ NkñLvjW¥ kq]Ye]\ÿV fLRu j¤W]p]q]¨OÐ SWLcOW¥ 
DkSpLY]\ÿV wq]pLp D¾qU f]qR´aO¨OW.

1. mLm¡ NaLW›V KqO WsæV RWLºV kf]\ÿ SoXspLeV.

2. nUY¡ kOf]p AsPv]pR¾ Nkf]j]i}Wq]¨OÐO.  

3. XÇ¡ kup AsPv]pR¾ Nkf]j]i}Wq]¨OÐO.

4. RarLp] Ao]foLp jjvOç KqO SoXspLeV.

SWLcOW¥ : 

A) 1, 2, 3 IÐ]v wq]pLeV B) 2, 4 IÐ]v wq]pLeV 

C) 1, 4 IÐ]v wq]pLeV  d) 1, 2, 3, 4 IÐ]v wq]pLeV 

15. fLRuÕrpOÐ Shw}SpLh|Lj°t]¤ JãvOoi]WU y]UzvLs¢ WOq°OW¥ 
WLeRÕaOÐfV Iv]RapLeV ? 

A) BjoOa] S\Ls  B) of]RWŸL¢ S\Ls

C) RRys£V vLs]   d) Cqv]WOtU

16. CÍ|pORa kNÍºLU kµvÃqkÈf]pORa (2012 – 17) NkiLj BwpU fLRu 
ÕrpOÐvp]¤ JfLeV ?

A) Yq}m] zbLSvL  

B) SvYfSpr]pfOU WPaOf¤ D¥R¨LçOÐfOU yOò]qvOoLp vt¡\ÿ

C) yLoPz]W j}f]pOU yof~vOoOç vt¡\ÿ   

d) hLq]Nh|j]¡ÚL¡²jvOU v|vyLp v]WyjvOU

17. r]y¡vV mLËV KLlV CÍ|Rp yUmÌ]\ÿV fLRuÕrpOÐ NkñLvjWt]¤ JfLeV/
JRfLR¨pLeV wq] ?

i. RBI, ImF-¤ KqO AUYoLeV.

ii. 1935 JNk]¤ 1-jLeV r]y¡vV mLËV KLlV CÍ| òLk]foLpfV. 

iii. DxL SfLrŸLp]qOÐO Bh|R¾ vj]fL RBI Yv¡e¡.

A) Only i and ii   B) Only ii and iii 

C) Only i and iii   d) oOWt]¤ kr´vRpsæLU (i, ii and iii)

18. GST-¨V W}u]sOç Cr¨Oof]¨V fLRuÕrpOÐ j]WOf]Wt]¤ JfLeV \Oo¾OW ? 

A) CGST  B) IGST 

C) SGST   d) oOWt]¤ kr´vRpsæLU
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19. Effective Revenue Deficit (ERD) equal to

A) Revenue Deficit minus Grant-in-Aid for Creation of Capital Assets 

B) Capital Expenditure plus Grants-in-Aid for Creation of Capital Assets

C) Primary deficit plus interest payments 

D) Revenue deficit minus interest payments

20. The report titled “The Indian Economy – A Review”, is an alternative of Economic 

Survey 2024, is authored by

A) Krishnamurthy Subramanian B) mr. Satyendra Kishore

C) V. Anantha Nageswaran d) Shri. S. Ramakrishnan

21. “The public agreements between citizens and service delivery providers that clearly 

codify expectations and standards in the realm of service delivery”; identify the public 

agreement.  

A) manifesto   B) Citizen Charter 

C) Constitution   d) PIl

22.  NSSO stands for

A) National Sample Survey Organisation 

B) National Sample Selection Organisation 

C) National Sample Survey Office 

D) National Sample Securing Office

23. The Attapady Soil Conservation Project in Kerala is getting assistance from 

A) The Japan International Cooperation Agency 

B) The danish International development Agency 

C) The Swiss Agency for development and Cooperation 

d) The German Agency for Technical Cooperation

24. NREGAsoft is related to

A) TISS   B) NREGA 

C) Keltron   d) lBS
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19. lsNkhoLp rvj|PWÚ] (ERd) Jf]jV fOs|oLeV ?

A) rvj|P WÚ] RRojyV oPsij Bñ]W¥ yQì]¨OÐf]jOç NYL£V&C¢&IpVcV

B) oPsij R\svV kæyV oPsij Bñ]W¥ yQì]¨OÐf]jOç NYL£V&C¢&IpVcV

C) NkLgo]W WÚ] kæyV ks]w SkpVRo£OWtOU 

d) rvj|P WÚ] RRojyV ks]w SkpVRo£OWtOU

20. 2024-Rs yLÒ¾]W y¡SvpORa mhsLeV  ""h] CÍ|¢ C¨SeLo]&I r]v|P'' IÐ 

fsR¨Ÿ]sOç r]SÕL¡ŸV IuOf]pfV

A) WQxVeoP¡¾] yONmùe|¢ B) è}. ySf|NÎ W]SxL¡

C) v]. AjÍ jLSYw~q¢  d) è}. IyV. qLoWQxVe¢

21. ""y¡v}yV Rcs]vr] SoXsp]Rs Nkf}ƒWtOU oLjh¼°tOU v|©oLp] SNWLc}
Wq]¨OÐ kTqÓLqOU Syvj v]fqehLfL¨tOU fÚ]sOç RkLfO WqLrOW¥''; RkLfO 

DaÒa] f]q]\ÿr]pOW.  

A) oLj]RlSðL  B) y]ã]y¦ \L¡Ÿ¡ 

C) nqeZaj  d) k]RII¤

22.  NSSO-R£ kP¡eqPkU

A) jLxe¤ yLÒ]¥ y¡Sv KL¡YRRjSyx¢ 

B) jLxe¤ yLÒ]¥ Rysƒ¢ KL¡YRRjSyx¢ 

C) jLxe¤ yLÒ]¥ y¡Sv KLl}yV 

d) jLxe¤ yLÒ]¥ RyW|Pq]°V KLl}yV

23. SWqt¾]Rs AŸÕLa] o¹V yUqƒe kÈf]¨V yzLpU sn]¨OÐfV 

A) ^ÕL¢ C£¡jLxe¤ SWL&KLÕSrx¢ J^¢y] 

B) cLj]xV AÍLqLNì v]Wyj J^¢y] 

C) v]Wyj¾]jOU yzWqe¾]jOoOç y~]yV J^¢y] 

d) yLSËf]W yzWqe¾]jOç ^¡Ú¢ J^¢y]

24. NREGAsoft vOoLp] mÌRÕŸ]q]¨OÐfV  

A) TISS   B) NREGA 

C) Keltron   d) lBS
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25. Which is treated as the birthplace of Human Relations Theory in Administration ? 

A) Toyota motor Corporation 

B) Bell labs 

C) NASA   

d) The Hawthrone Plant of the Western Electrical Company 

26. Which Constitutional amendment restored authority of states to recognise the Socially 
and Educationally Backward Classes (SEBCs) ?

A) 106 B) 101 C) 105 d) 100

27. Official calligrapher of Indian Constitution

A) Prem Behari Narain Raizada B) Ram Parshad

C) N.V. Gadgil   d) Nand lal Bose

28. Article 248 of Indian Constitution deals with

A) Scope of executive power of the Union Government 

B) Power of the Union Government to make any law with respect to any matter 
included in the concurrent or state list 

C) Special Powers of Prime Minister’s Office

d) Power of the Union Government to make any law with respect to any matter not 
enumerated in either concurrent or state list

29. Which State in India offered 50% reservation for women in local bodies for the first 
time ? 

A) Bihar   B) Kerala 

C) Karnataka   d) Himachal Pradesh

30.  S. R. Bommai V. Union of India case is related to 

A) Article 356   B) Article 360 

C) Article 362   d) Article 352

31. An Authentic book scientifically written by Koodiyattam

A) Hasta lakshana deepika  B) Natyasastra  

C) Natyakalpa drumam    d) Thapathi samvaranam 
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25. nqe¾]Rs z|Po¢ r]Ssx¢yV f]pr]pORa ^ÓòsoLp] We¨L¨RÕaOÐfV JfV ? 

A) RaLSpLŸ SoLSŸL¡ SWL¡ÕSrx¢ 

B) Rm¤ sLmVyV 

C) jLy  

d) RvSð¦ CsNW›]¨¤ WÒj]pORa zLSNfL¦kæL£V 

26. yLoPz]WoLpOU v]h|Ln|LykqoLpOU k]SÐL¨U j]¤¨OÐ v]nLY°Rt (SEBCs) 
AUY}Wq]¨L¢ yUòLj°¥ V̈ Ai]WLqU kOj@òLk]\ÿ nqeZajLSnhYf] JfV ?

A) 106 B) 101 C) 105 d) 100

27. CÍ|¢ nqeZajpORa KTSh|LY]W WLs]NYLl¡

A) SNkU m]zLq] jSq¢ RRryLh B) qLU k¡xLhV

C) I¢. v]. YLcVY]¤  d) jÎsL¤ SmLyV

28. CÍ|¢ nqeZajpORa B¡Ÿ]¨]¥ 248¤ ______ Nkf]kLh]¨OÐO.

A) SWNÎ Yv¦Ro£]R£ IWõ]W|PŸ}vV Ai]WLq¾]R£ v|LkÅ] 

B) W¦Wr£V ARsæË]¤ yUòLj s]ð]¤ D¥RÕaO¾]p]ŸOç JRfLqO WLq|vOU 
yUmÌ]\ÿV JRfË]sOU j]poU j]¡Ú]¨LjOç SWNÎ y¡¨Lq]R£ Ai]WLqU 

C) NkiLjoNÍ]pORa KLl}y]R£ NkSf|W Ai]WLq°¥

d) W¦Wr£V s]ð]SsL yUòLj s]ð]SsL D¥RÕaO¾]p]Ÿ]sæL¾ JRfË]sOU  
v]xpvOoLp] mÌRÕŸV JRfË]sOU j]poU j]¡Ú]¨LjOç SWNÎ Yv¦Ro£]R£  
Ai]WLqU

29. CÍ|p]¤ Bh|oLp] fSÇw òLkj°t]¤ Nñ}W¥¨V  50% yUvqeU j¤W]p 
yUòLjU  

A) m}zL¡   B) SWqtU 

C) W¡eLaWU   d) z]oL\¤ NkShwV

30.  IyV. B¡. RmLRÚ V. pPe]p¢ KLlV CÍ| SWyOoLp] mÌRÕŸ]q]¨OÐfV  

A) B¡Ÿ]¨]¥ 356  B) B¡Ÿ]¨]¥ 360 

C) B¡Ÿ]¨]¥ 362  d) B¡Ÿ]¨]¥ 352

31. WPa]pLŸU wLNñ}poLp] IuOf]p Bi]WLq]W NYÏU

A) zñsƒe h}k]W   B) jLa|wLNñU  

C) jLa|W¤k NhOoU   d) fkf] yUvqeU 



71/24 – M 

a -16- 

32. Two Kerala visual arts have been included in the UNESCO heritage list.

A) Kathakali and Ottamthullal  B) Theyyam and Koodiyattam  

C) Koodiyattam and Padayani  d) Koodiyattam and mudiyettu

33. The team from which country always marches first at the opening ceremony of the 

olympics ? 

A) Greece   B) France  

C) Switzerland    d) Host Country

34. davis Cup is for

A) Cricket   B) Tennis  

C) Badminton    d) Basketball

35. ‘Nandanar’ is the Pen name of

A) P. C. Kuttikrishnan    B) C. Govinda Pisharady  

C) P. C. Gopalan    d) R. Ramachandran Nair

36. Which is the first colour movie in Malayalam ?

A) Chemmeen   B) Kandambacha coat 

C) Balan    d) Neelakuil

37. A ‘Sangam’ period work with reference to ‘Onam’.

A) Akananooru    B) Chilappatikaram  

C) madurai Kanchi    d) Periyapuranam

38. Who is the writer associated with the ‘malayali memorial’ ?

A) E. V. Krishna Pillai    B) Kumaranasan  

C) Bodeswaran    d) C. V. Raman Pillai

39. The rescue operation launched by India to bring back the National Standard in Israel 

during the Hamas-Israel conflict.

A) Operation Ajay    B) Operation Vijay  

C) Operation Bluestar   d) Operation Hamas
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32. pORjyVSWLpORa RRkfQW kŸ]Wp]¤ D¥RÕaO¾]p]ŸOç qºV SWqt}p hQw|WsW¥ 

JvpLeV ?

A) WgWt]pOU KLŸUfOçsOU  B) RfávOU WPa]pLŸvOU  

C) WPa]pLŸvOU kape]pOU  d) WPa]pLŸvOU oOa]SpãOU

33. Kt]Ò]WVy]R£ DhVZLaj\ÿa°]¤ JfO qL^|¾V j]ÐOç a}oLeV ISÕLuOU Bh|U 

oL¡\ÿV R\áOÐfV ? 

A) NY}yV  B) NlL¢yV  

C) y~]ãVy¡sºV    d) Bf]Sgp qL^|U

34. Scv]yV WÕV IÍ]jOçfLeV ?

A) NW]¨ãV  B) RaÐ}yV  

C) mLcVo]£¦   d) mLyVWãV SmL¥

35. jÎjL¡ BqORa fPs]WL jLooLeV ?

A) k]. y]. WOŸ]WQxVe¢   B) y]. SYLv]Î k]xLqa]  

C) k]. y]. SYLkLs¢   d) B¡. qLo\NÎ¢ jLp¡

36. ospLt¾]Rs Bh|R¾ Wt¡ y]j]o JfLeV ?

A) R\Ú}¢  B) WºUm\ÿ SWLŸV 

C) mLs¢   d) j}s¨Op]¤

37. "KLeU' kqLo¡w]¨OÐ KqO "yUZU' WLsZŸ¾]Rs WQf]

A) AWjLjPrV   B) \]sÕf]WLqU  

C) oiORRq WLµ]   d) Rkq]pkOqLeU

38. ospLt] RoSÚLr]psOoLp] mÌRÕŸ IuO¾OWLq¢

A) C. v]. WQxVek]ç   B) WOoLqjLwL¢  

C) SmLSiw~q¢   d) y]. v]. qLo¢k]ç

39. zoLyV CNySp¤ yUZ¡x¾]j]Ra CNySps]¤ Shw}p j]svLqU f]q]\ÿO RWLºO 

vqL¢ CÍ| BqUn]\ÿ qƒLNkv¡¾jU

A) KLÕSrx¢ A^pV    B) KLÕSrx¢ v]^pV  

C) KLÕSrx¢ mæPðL¡    d) KLÕSrx¢ zoLyV
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40. The new Vice Chancellor of Kerala Kalamandalam

A) mrinalini Sarabhai    B) dr. mohan Kunnummel  

C) dr. B. Anantha Krishnan d) dr. S. Bijoy Nandan

41. Which memory is used to hold the ‘Boot up’ program in Computer ?

A) Read Only memory (ROm)  B) Random Access memory (RAm) 

C) Cache memory  d) Secondary memory

42. Name the system software that converts a high level language program into machine 
language line by line.

A) Assembler    B) Compiler  

C) Interpreter   d) Operating system

43. Which is the four digit Helpline number for reporting a cyber crime in the National 
Cyber Crime Reporting portal ?

A) 1940 B) 1930  C) 1098 d) 1947

44. What does ICANN stand for ?

A) International Corporation for Assigned Names and Numbers

 B) Internet Corporation for Alternative Names and Numbers  

C) Intellectual Corporation for Alternative Names and Numbers 

d) Internet Corporation for Assigned Names and Numbers

45. One of the popular online chat platform ‘Omegle’ has shut down its operations on  
Nov. 8, 2023. Who is the founder of ‘Omegle’ ?

A) Sam Altman    B) david R. Woolley  

C) doug Brown   d) leif K. Brooks

46. Among the following Indian scientists, who have been awarded the Bharat Ratna ?

i. Vikram Sarabhai

ii. A. P. J. Abdul Kalam

iii. Homi Bhabha

A) Only i    B) Only i and iii  

C) All of the above (i, ii and iii) d) Only ii
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40. SWqtWsLo¼s¾]R£ kOf]p RRvyV \L¢ys¡

A) oQeLt]j] yLqLnLp]   B) ScL. SoLz¢ WOÐOSÚ¤  

C) ScL. m]. BjÎ WQxVe¢ d) ScL. IyV. m]S^LpV jÎ¢

41. WÒ|PŸr]¤ "mPŸV AÕV ' SNkLNYLU SzL¥cV R\áL¢ DkSpLY]¨OÐ RoÚr] 

A) r}cV K¦s] RoÚr] (ROm)  B) rL¢cU BWVyyV RoÚr] (RAm) 

C) WLRx RoÚr]   d) Ry¨¢cr] RoÚr]

42. KqO RRz Rsv¤ nLxL SNkLNYLo]Rj Rox}¢ nLxp]Ss¨V vq]vq]pLp] kq]v¡¾jU 
R\áOÐ y]ðU SyLlVãV Rvpr]R£ SkqV 

A) AyUmæ¡    B) WRRÒs¡ 

C) C£¡RNkã¡   d) KLÕSrã]UYV y]ðU

43. jLxe¤ RRym¡ RRNWU r]SÕL¡Ÿ]UYV SkL¡Ÿs]¤ RRym¡ WOãWQf|U r]SÕL¡ŸV  
R\áOÐf]jOç jLs¨ Rz¤ÕV RRs¢ jÒ¡ JfLeV ?

A) 1940 B) 1930  C) 1098 d) 1947

44. ICANN IÍLeV yP\]Õ]¨OÐfV ?

A) C£¡jLxe¤ SWL¡ÕSrx¢ SlL¡ ARRy¢cV SjUyV B¢cV jÒ¡yV

 B) C£¡RjãV SWL¡ÕSrx¢ SlL¡ B¥Ÿ¡Sjã}vVV SjUyV B¢cV jÒ¡yV 

C) C£sWV\~¤ SWL¡ÕSrx¢ SlL¡ B¥Ÿ¡Sjã}vVV SjUyV B¢cV jÒ¡yV 

d) C£¡RjãV SWL¡ÕSrx¢ SlL¡ ARRy¢cV SjUyV B¢cV jÒ¡yV

45. ^jNk]p KL¦RRs¢ \LãV kæLãVSlLoOWt]RsLÐLp "KSoYs]'R£ Nkv¡¾jU 2023 
jvUm¡ 8&jV Aa\ÿOkPŸ]. "KSoYs]'R£ òLkW¢ BqLeV ?

A) yLU B¥ŸVoL¢   B) Scv]cV B¡. vPs]   

C) cYV NmT¦   d) s}lV RW. NmP¨VyV

46. fLRu krpOÐ CÍ|¢ wLNñ³q]¤ B¡¨LeV nLqfqÁU sn]\ÿfV ?

i. v]NWU yLqLnLpV

ii. I. k]. R^. AmÉO¥WsLU

iii. SzLo] nLn

A) Only i    B) Only i and iii  

C) oOWt]¤ kr´vRpsæLU (i, ii and iii) d) Only ii
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47. The major science objectives of Aditya-l1 mission are 

i. Study of Solar upper atmospheric (chromosphere and corona) dynamics.

ii. To demonstrate Safe and Soft landing on Solar Surface.

iii. To demonstrate Rover roving on the sun.

A) Only iii    B) Only i and iii  

C) Only i   d) All of the above (i, ii and iii)

48. Which of the following statement is/are correct about National Green Hydrogen mission ?

i. To make India the Global Hub for production, usage and export of Green 
Hydrogen and its derivatives.

ii. The Mission will lead to significant carbonisation of the economy, increased 
dependence on hydro power projects.

iii. This will contribute to India’s aim to become Aatmanirbhar through clean energy 
and serve as an inspiration for the Global Clean Energy Transition. 

A) Only ii    B) Only i and iii  

C) Only ii and iii   d) All of the above (i, ii and iii)

49. Which of the following statements is/are correct ? 

i. The Environment (Protection) Act was enacted in 1986.

ii. The Forest Conservation Act, 1980 was enacted to help conserve the country’s 
forests.

iii. National Green Tribunal has been established on 18-10-2020 under the National 
Green Tribunal Act, 2020. 

A) Only i and ii    B) All of the above (i, ii and iii) 

C) Only ii and iii   d) Only ii

50. Which of the following statements is/are correct ? 

i. Scientists discovered a recently formed ocean inside Saturn’s moon mimas.

ii. 3d printer creates brain tissue that acts like the real thing.

iii. The UN Climate Change Conference in dubai, United Arab Emirates, closed on 
03 december 2023. 

A) Only i    B) Only ii and iii 

C) Only i and ii  d) All of the above (i, ii and iii)
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47. Bh]f|-I¤1 hTf|¾]R£ NkiLj sƒ|°¥ CvpLeV 

i. SyLtL¡ AÕ¡ AãVSoLyVRlr]WV (SNWLSoLyVl]prOU RWLSrLepOU) \sjLÄWf 
Rp¨Or]\ÿOç kbjU.

ii. yTSqL¡²Nkfs¾]¤ yOqƒ]fvOU oQhOsvOoLp sL¢c]UYV Rft]p]¨L¢.

iii. SrLv¡ yPq|j]¤ Wr°OÐfV WLe]¨L¢.

A) Only iii    B) Only i and iii  

C) Only i   d) oOWt]¤ kr´vRpsæLU (i, ii and iii)

48. Shw}p zq]f RRzNc^¢ hTf|R¾¨Or]ˆV fLRuÕrpOÐ NkñLvjWt]¤ JfLeV/  
JRfLR¨pLeV wq] ?

i. NY}¢ RRzNc^R£pOU Af]R£ Rcr]Svã}vOWtORapOU DfVkLhj¾]jOU DkSpLY 
¾] jOU WpãOof]¨OoOç BSYLt SWNÎoLp] CÍ|Rp oLãOW.

ii. hTf|U yÒhVv|vòpORa Ye|oLp WL¡mRReSyxj]Ss¨OU ^sRRvh|Of  
kÈf]WRt WPaOf¤ Bèp]¨OÐf]Ss¨OU jp]¨OU.

iii. wOÈoLp DT¡²¾]sPRa BÄj]¡n¡ BWLjOç CÍ|pORa sƒ|¾]jV CfV 
yUnLvj j¤WOWpOU BSYLt wOÈ DT¡² kq]v¡¾j¾]jV NkS\LhjoLWOWpOU 
R\áOU.

A) Only ii    B) Only i and iii  

C) Only ii and iii   d) oOWt]¤ kr´vRpsæLU (i, ii and iii)

49. fLRuÕrpOÐ NkñLvjWt]¤ JfLeV/JRfLR¨pLeV wq] ? 

i. kq]ò]f] (yUqƒe) j]poU1986&¤ j]sv]¤ vÐO.

ii. 1980&Rs vjyUqƒe j]poU qL^|R¾ vj°Rt yUqƒ]¨OÐf]jOSvº] 
 j]sv]¤ vÐO.

iii. Shw}p zq]f RRNam|Pe¤ BûV 2020 NkWLqU 18-10-2020&¤ Shw}p zq]f  
RRNam|Pe¤ òLk]foLp].  

A) Only i and ii    B) oOWt]¤ kr´vRpsæLU (i, ii and iii)

C) Only ii and iii   d) Only ii

50. fLRuÕrpOÐ NkñLvjWt]¤ JfLeV/JRfLR¨pLeV wq] ? 

i. wj]pORa DkNYzoLp (oP¦) o]oLy]jOç]¤ AaO¾]Ra qPkURWLº yoONhU 
 wLNñ³¡ WRº¾].

ii. 3d Nk]£¡ pgL¡À WLq|U SkLRs Nkv¡¾]¨OÐ oñ]xVW SWLw°Rt yQì]¨OÐO.

iii. pORReãcV ArmV Io]SrãVy]Rs hOmLp]¤ jaÐ pO. I¢. WLsLvòL 
 v|f] pLj ySÚtjU  2023 c]yUm¡ 3&jV AvyLj]ˆO.

A) Only i    B) Only ii and iii 

C) Only i and ii  d) oOWt]¤ kr´vRpsæLU (i, ii and iii)
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51. Arun travelled 25 km 50 m by bus, 7 km 265 m by car and the rest 1 km 30 m he 
walked. How much distance in kilometres did he travel in all ?

A) 33.345 B) 34.065 C) 34.345 d) 33.065

52. A student has to secure 40% marks in an examination to pass. He got 320 marks 
and failed by 80 marks. The maximum marks are

A) 800 B) 1000 C) 1500 d) 1280

53. An article was sold at 10% gain. Had it been sold for 250 more, the gain would have 
been 20%. Then the cost price of the article is

A) 2,500 B) 2,000 C) 1,350 d) 1,500

54. An amount deposited for 2 years at simple interest rate 10.5% will yield same interest 
in 2 years if deposited for compound interest for 2 years (compounded annually) if 
the rate of compound interest is 

A) 9.75 B) 10 C) 10.25 d) 10.5

55. Sita reads 1
4

th

part of a book in one hour. How much part of the book will be read in 

2
1
5

hours ? 

A)
10
20

B)
15
20

C) 
11
10

d)
11
20

56. 6 men and 7 women can finish a job in 12 days while 2 men and 5 women can finish 
it in 20 days. In how many days can 10 men finish it ?

A) 20 B) 22 C) 24 d) 26

57. P, Q, R and S start from the same point to walk around in a circular path, in the 
same direction, around a garden whose circumference is one kilometre. P walks  
5 km an hour, Q walks 4 km an hour, R walks 7 km an hour and S walks 11 km an 
hour. How long will it take all four to meet again at the starting point ?

A) 3 hours B) 2 hours C) 1 hour d) 4 hours

58. The value of −343
2
3( )   is

A) 49 B) 
1

49
C) - 49 d) −

1
49

59. How many balls of radius 2 cm can be made from a solid sphere of lead of radius 
10 cm ?
A) 25 B) 50 C) 100 d) 125

60.  If seven times the seventh term of an AP is equal to 11 times its eleventh term, then 
the 18th term of the AP will be
A) 1 B) 0 C) 2 d) -1 
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51. AqO¦ my]¤ 25 km 50 m DU WLr]¤ 7 km 265 m DU mL¨] 1 km 30 m DU jaÐO. 
Av¢ BRW INf W]SsLo}ã¡ hPqU yµq]ˆO ?

A) 33.345 B) 34.065 C) 34.345 d) 33.065

52. KqO v]h|L¡À] v]^p]¨eRoË]¤ KqO kq}ƒp]¤ 40% oL¡¨V Sja]p]q]¨eU. Av¢
320 oL¡¨V vL°] 80 oL¡¨]jV SfLãO. IÐL¤ kqoLvi] oL¡¨V INf ?

A) 800 B) 1000 C) 1500 d) 1280

53. KqO SsXjU 10% sLn¾]¤ v]ãO. 250 I¹U WPa] v]ã]qORÐË]¤ 20% SjŸU DºLWOoLp]
qOÐO. ASÕL¥ SsXj¾]R£ v]s ?

A) 2,500 B) 2,000 C) 1,350 d) 1,500

54. 10.5% IÐ st]foLp ks]w j]q¨]¤ 2 v¡xS¾àV j]Sƒk]ˆ fOWàV 2 v¡x¾] 
jOç]¤ ASf ks]w  2 v¡xS¾¨V (vL¡x]WU yUSpL^]Õ]ˆV ) WPŸO ks]wàLp] 

 j]Sƒk]ˆL¤ sn]¨OU. ASÕL¥ WPŸOks]wpORa j]q¨V ?  

A) 9.75 B) 10 C) 10.25 d) 10.5

55. y}f 1 oe]¨P¡RWLºV KqO kOñW¾]R£ 1
4

th

 nLYU vLp]ˆO f}¡¾O. 2
1
5

 oe]¨Pr] 

jOç]¤ kOñW¾]R£ INf nLYU vLp]¨OU ?

A)
10
20

B)
15
20

C) 
11
10

d)
11
20

56. 6 kOqOxÓL¡¨OU 7 Nñ}W¥¨OU 12 h]vyU RWLºV KqO S^Ls] kP¡¾]pL¨L¢ Wu]pOU,  
2 kOqOxÓL¡¨OU 5 Nñ}W¥¨OU 20 h]vyU RWLºV B S^Ls] kP¡¾]pL¨L¢ Wu]pOU.
IË]¤ 10 kOqOxÓL¡¨V INf h]vyU RWLºV  B S^Ls] kP¡¾]pL¨L¢ Wu]pOU ?
A) 20 B) 22 C) 24 d) 26

57. P, Q, R, S IÐ]v KSq m]ÎOv]¤ j]ÐV KqO vQ¾LWQf]p]sOç kLfp]¤ ASf 
h]wp]¤ 1 W]SsLo}ã¡ \OãtvOç KqO kPSÍLŸ¾]jV \OãOU ja¨L¢ BqUn]¨OÐO. P 
oe]¨Pr]¤ 5 W]SsLo}ãrOU, Q oe]¨Pr]¤ 4 W]SsLo}ãrOU, R oe]¨Pr]¤ 7 W]SsL
o}ãrOU S oe]¨Pr]¤ 11 W]SsLo}ãrOU ja¨OÐO. ðL¡Ÿ]UYV SkLp]£]¤ jLsOSkqOU  
v}ºOU WºOoOŸL¢ INf yopRoaO¨OU ?

A) 3 oe]¨P¡ B) 2 oe]¨P¡ C) 1 oe]¨P¡ d) 4 oe]¨P¡

58. −343
2
3( ) IÐf]R£  oPs|U

A) 49 B) 
1

49
C) - 49 d) −

1
49

59. 10 Ry£}o}ã¡ v|LyoOç CTp¾]R£ XqSYLt¾]¤ j]ÐV 2 Ry£}o}ã¡ v|LyoOç 
INf kÍOW¥ j]¡Ú]¨L¢ Wu]pOU ?
A) 25 B) 50 C) 100 d) 125

60. KqO yoLÍqSèe]pORa JuLoR¾ kh¾]R£ JuOoa°V Af]R£ kf]RjLÐLU kh¾]R£  
11 oa°]jV fOs|oLReË]¤, yoLÍqSèe]pORa 18&LU khU  _______ Bp]q]¨OU.

A) 1 B) 0 C) 2 d) -1 
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61. Find the odd one among the following.

A) French Open B) US Open C) Wimbledon d) davis Cup

62. Problem : Hypothesis : : ____ : Prognosis. Fill in the blank using any one of the 
options.

A) Condition B) Treatment C) Experiment d) Analysis

63. If RIdE is coded as 36 and dESK is coded as 39, then what will be the code for 
RISK ?

A) 60 B) 57 C) 58 d) 56

64. Find the wrong number in the following series.
3, 10, 31, 90, 283.

A) 10 B) 31 C) 90 d) 283

65. At what time between 4 and 5 will the hands of a clock be at right angles ?

A) 38
3
11

 minutes past 4  B) 38
2
11

 minutes past 4 

C) 38
9

13
minutes past 4   d) 38

2
12

 minutes past 4 

66. The calender for the year 2025 will be the same for the year 

A) 2031 B) 2030 C) 2036 d) 2033

67. Seven members are living in the family. Q is the daughter of P. B is the brother of R. 
G is the mother in law of A. B is married with A. B is the uncle of Q. d is the father 
of B. What is the relation of B with respect to P ?

A) Brother   B) Sister in law 

C) Brother in law   d) mother

68. Raju and Radha start from same location. Raju trace 5 km east and then 6 km 
north-east. Radha trace 4 km south and then 4 km south-east. What is the shortest 
distance (in km) between Raju and Radha ?

A) 10.80  B) 12.80 C) 13.45 d) 16.28

69. Six people are sitting in a row. y is sitting between X and R. X is sitting next to Z.  
Z is sitting next to P, who is sitting on the extreme left and Q is sitting next to R. Who 
are sitting adjacent to X ? 

A) Z and y B) P and X C) y and R d) Q and y

70. Four friends were sharing a plumcake. They decided that the oldest friend will get an 
extra piece of cake. Ram is two months older than Raj, who in turn is three months 
younger than Jay. Sam is one month older than Raj. Who should get the extra piece 
of cake ?

A) Ram B) Raj C) Jay d) Sam
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61. fLRuÕrpOÐvp]¤ KãpLRj WRº¾OW.
A) NlµV KLÕ¦ B) pO.IyV. KLÕ¦ C) v]Um]¥c¦ d) Scv]yV WÕV

62. NkwÔU : AjOoLjU : : ____ : Nkv\jU. JRfË]sOU KLkVxjOW¥ DkSpLY]\ÿV wPj|f  
kPq]Õ]¨OW.

A) Avò B) \]W]Ã C) kq}ƒeU d) v]wWsjU

63. RIdE IÐfV 36 BpOU dESK IÐfV 39 BpOU SWLcV R\pÅ]ŸORºË]¤, RISK&R£ 
SWLcV IÍLp]q]¨OU ?

A) 60 B) 57 C) 58 d) 56

64. fLRuÕrpOÐ Sèe]p]Rs RfãLp jÒ¡ WRº¾OW.

3, 10, 31, 90, 283.
A) 10 B) 31 C) 90 d) 283

65. 4 jOU 5 jOU Cap]¤ JfV yop¾LeV KqO SWæL¨]R£ RRWW¥ sUm SWLe]sOºLvOW ?

A) 4 Wu]´O 38
3
11

 o]j]ãV   B) 4 Wu]´O 38
2
11

  o]j]ãV 

C)  4 Wu]´O 38
9

13
 o]j]ãV  d) 4 Wu]´O 38

2
12

 o]j]ãV

66. 2025&Rs Wsº¡ _______ v¡x¾]jOU yoLjoLp]q]¨OU. 

A) 2031 B) 2030 C) 2036 d) 2033

67. JuV AUY°tLeV WOaOUm¾]¤ fLoy]̈ OÐfV. P pORa oWtLeV  Q. R R£ ySzLhqjLeV B. 
A pORa AÚLp]pÚpLeV G. A pOoLp] B v]vLz]fjLeV. Q R£ AÚLvjLeV B. 
d pLeV B pORa k]fLvV. B àV P pOoLpOç mÌU IÍLeV ?
A) ySzLhq¢   B) jL¾P¢ 
C) At]p¢  d) AÚ

68. qL^OvOU qLipOU KSq òs¾Oj]ÐLeV fOa°OÐfV. qL^O 5 W]. o}. W]u¨OU k]Ð}aV 6 W]. o}.  
va¨OW]u¨OU  k]ÍOa¡ÐO. qLi 4 W]SsLo}ã¡ Rf¨OU k]Ð}aV 4 W]SsLo}ã¡ Rf V̈ W]u¨OU   
k]ÍOa¡ÐO.  qL^OvOU qLipOU fÚ]sOç JãvOU WOr´ hPqU (W]SsLo}ãr]¤) INfpLeV ?
A) 10.80  B) 12.80 C) 13.45 d) 16.28

69. 6 Sk¡ KqO j]qp]¤ Cq]¨OÐO. y BeV  X jOU R jOU Cap]¤ Cq]¨OÐfV. X BeV  Z jV 
AaO¾V Cq]¨OÐfV.  AS°pãU CafOvw¾V Cq]¨OÐ P pORa AaO¾V Z Cq]¨OÐO.   
Q, R jV AaO¾V Cq]¨OÐO. X SjLaV S\¡ÐV Cq]¨OÐfV BRqLR¨pLeV ? 
A) Z DU y DU B) P DU X DU C) y DU R DU d) Q DU y DU

70. jLsV yOzQ¾O¨¥ kæUSW V̈ kË]aOWpLp]qOÐO. JãvOU NkLpoOç yOzQ¾]jV KqO fOºV 
SW V̈ Ai]WoLp] sn]¨ORoÐV Av¡ f}qOoLj]\ÿO. rLU, qL^]Sj¨L¥ 2 oLyU oP¾fLeV,
^pVSj¨L¥ 3 oLyU CtpfLeV. qL^]Sj¨L¥ KqO oLyU oP¾fLeV yLU. Ai]WSW V̈ 
B¡¨LeV sn]S¨ºfV  ?
A) rLU B) qL V̂ C) ^pV d) yLU
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71. Choose the correct question tag.

Something happened at the college, ____________ 

A) don’t it ?    B) hadn’t it ?  

C) didn’t it ?    d) isn’t it ? 

72. Put in the correct preposition. 

The programme starts ____________ 8:15 am.

A) at   B) in  

C) on    d) over 

73. Choose the correct alternative from those given as options.

The Principal ____________ to speak to you.

A) wants    B) wanting  

C) is wanting    d) was wanting 

74. Turn the given sentence from active voice to passive voice. Specify which of the 

following answer is right ?

mary opened the door. 

A) mary was opened the door. 

B) The door was opened by mary.

C) Opened the door by mary. 

d) mary has opened the door.

75. Identify the best way to express the intended idea in the following. 

A) I like her childish face .  

B) I like her child like face.  

C) I like her face like child.  

d) I like her face like a child.
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76. Identify the type of sentence.

What a super show !

A) declarative sentence   B) Interrogative sentence

C) Imperative sentence   d) Exclamatory sentence

77. Use an appropriate article. 
He didn’t get ____________ job he applied for. 

A) an    B) a 

C) the    d) none of the above 

78. michelle is ____________ than Natasha.  

A) old    B) more old  

C) elder   d) older

79. I look forward ____________ from you.

A) for hearing   B) for hear  

C) to hearing    d) by hearing 

80. Report the sentence.

Joshua said to mom, “I have been here”. 

A) Joshua told mom that I had been there.

B) Joshua told mom that he has been there.  

C) Joshua told mom that he had been here.    

d) Joshua told mom that he had been there. 

81. Complete the given sentence using a suitable phrasal verb.

I arranged to meet Tony in the mall yesterday, but he didn’t ____________.

A) fall off    B) turn up  

C) move in    d) clear up 

82. Find the synonym of the word, ‘amicable’. 

A) cruel    B) large  

C) friendly    d) simple 
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83. Which of the following word is opposite to the word cautious ?

A) reckless    B) careful  

C) slim   d) beautiful 

84. Which of the following is correctly spelt ?

A) catastrophy    B) catastrophi  

C) catastrophe    d) catestrophy 

85. Find one word for a person who has no money. 

A) stale    B) agile 

C) passerby   d) pauper 

86. What is the meaning of the idiomatic expression, “round the corner” ? 

A) very near    B) difficult  

C) spontaneous    d) clear

87. Choose the compound word from the words given below.

A) table   B) hallway  

C) ceiling   d) computer

88. What is the female tiger called ?  

A) tigress    B) ewe  

C) calf   d) tiger cub 

89. A prefix is letters that come at the ____________ of a word.  

A) ending    B) middle  

C) beginning    d) top 

90. Prepare the ____________ of your research work.  

A) Synopsis   B) Synopsees 

C) Synopses  d) Synopse
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91. fLRu RWLaO¾]q]¨OÐvp]¤ KqO vL¨V oLNfSo wq]pLp] IuOf]p]ŸOçP. ASffV ?

A) j]X¼O B) SsXW¢ C) wmVgU d) NW]f|j]ì

92. kP^W mzOv\j¾]jV DhLzqeSofV ? 

A) WOŸ]W¥ B) Nñ}W¥ C) YOqO¨¥ d) kOqOxÓL¡

93. kONf¢ IÐ kh¾]R£ kq|LpkhosæL¾fV JfV ? 

A) ^jW¢  B) fjp¢ C) BÄ^¢ d) fjO^¢

94. f} + Wj¤ IÐfV S\¡R¾uOfOW.

A) f}Wj¤ B) f}pVWj¤ C) f}¨j¤ d) f}pV¨j¤

95. qL^LvOU Ex]pOoLpv¢ – CfV KãÕhoL¨OW. 

A) \NWv¡¾] B) qL^qL^¢ C) qL^SèxVb¢ d) qL^¡x]

96. yOf¢ IÐ kh¾]R£ Nñ}s]UYU IuOfOW. 

A) yOi} B) yOf C) yOf]j} d) yOf|

97. I¹PrV IÐ khU k]q]R\ÿuOfOW.

A) I¹V + jPrV B) I¦ + jPrV C) I¦ + DTrV d) I¹V + DTrV

98. "WPko¼PWU' IÐ RRws]pORa A¡ÀRoÍV ? 

A) AkWa¾]¤ \LaOÐv¢ B) v]WQf] WLe]¨OÐv¢ 

C) SsLWv]vqU CsæL¾v¢ d) foLw krpOÐv¢

99. SoZU IÐ A¡ÀU vqOÐ khSofV ? 

A) vzVj]  B) vLq]hU 

C) vLq]i]  d) vLq]^U

100. hQdU IÐ kh¾]R£ v]kq}fkhRouOfOW.

A) yVgPsU  B) WSbLqU 

C) Wb]jU  d) w]g]sU 




